8 multiple choice - 5 points each
4 written - 15 points each
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Topics

Infinite Series:
e Convergence, divergence, absolute convergence, conditional convergence.
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test, limit comparison test, ratio test, root test.
e Special series (p-series, geometric series).

( L'Hospital's Rule:
e Indeterminant forms.
e Applying the theorem.
( Improper Integrals:
e [dentification.
e Computation using proper notation.
Taylor Polynomial Aﬁ?oximation:
e Formula for Taylor polynomials.
( e Taylor polynomials for simple functions.

e Error estimation and prediction of # to satisfy an error bound.
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Practice Questions 7=

Example: Give the values of
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Example: Determine whether the series
converges or diverges. Show your work.
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Example: Determine whether the series
converges or diverges. Show your work.

com(k) & 1 & 1 &n(k)
,Z‘ K ’;kln(k)’;k(ln(k))z’g k
e g\ 1

w\!f'/\&&ﬁ FDGL V{/iégj C,ghu{/[&f.ﬁ_— Diver 5«2 5

2 Inlk) pote: In(k) ) oz K2
2 — Yo
K

K S
(R ™
S RLILL I T,
o 2T < el e

n |
\;._Q_Mﬂorw k.

\
< 2 (sf-;_ \g-Dr e
K

—

L Comw
Pleo izht;m -2 2 k> i

Wc, i J\;;!-L 'S

& %MW PJM{ “

L ba Fo CoTo | our senes conenges



Sm o Mo beas L ns pede
> X [n(x)
ond O{I?C““”"bc—tw
o C Xz=
j\ »_&_— Ok)é ot tlm \g‘ l OKX‘
v i) ¥ In(x
2 C=>lo =
C
L \ﬂ( \n (d‘\\ - \v\(ln(z)l
L \n\ \n()ﬂ\l = LM —
— Lian P50 —| o
>N > S po
= O
L e 1 =
&l syl test i D e

= Yl sents duIEee.

Co

k=

L— Loy = A Lk

K Qn(*-)S; < Qan

Slaw & 3 IS
O/"l &LréaGEﬂg -

Y = *J’
A — 1. \ Ay u=loty olut X ¥
a2 - /f""l S KQQ(}QS- Y S
X Gﬂ(F‘JB 0o SIA ou = w
v . -t 4+ L
= i -:-l-L?) \ = l(::"bo \a () ln(z
1Y, w
= 2 A < o
T aR)

s e ek Tglies o e Canerges






Example: Determine whether the series = ="
converges or diverges. Show your work. .
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Example: Determine whether the series

converges or diverges. Show your work.
I's
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Example: Determine whether the series

converges absolutely, converges conditionally, or
diverges. Show your work.
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Example: Determine whether the series
converges absolutely, converges conditionally, or
diverges. Show your work.
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Example: Determine whether the series

converges absolutely, converges conditionally, or

diverges. Show your work.
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indeterminant form. Then compute the limit. 7
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Example: Evaluate the integral using proper
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Example: Give the 4th degree Taylor

polynomial centered at O for the given
function. T

__ejf:_ ehj e_I: xe_I:_ Sin(Zx)i cos(3x)5 xsin(;]} x+2 +lt1(1+x)

—

L3 S
1z x4 ~
@y' \'\'X“"zx*b 2M
’

far= won I (10
L) 2 BOM +

Loy e Lioyx v = <7+ < 24

?H(x\ =
\

2
—

Loy=9o*~ @y =

— | _
- $lov= =
Clhy= 1+ ,Il:;

_ "lo\= -l
,?”(K\ _ -\ —=:>..§, 0\

- O*)‘\I m/ — rz-
” oY=
..C (K\:’ = - —Q
(= ~G

(N &'w )
1% g 7

3 o U
. _ 2 Y X
...-Q'._\,;!X-lf §X2+ -EX * oY

2> 3

— 2 Y2k — ‘-f



Example: /(0)=1, /'(0)=-3, f"(0) =0 and
/"(0)=1/4. Give the 3rd degree Taylor
polynomial centered at 0.
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Example: Give

can occur fro
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